## **Garland Independent**

## **GISD Sourcing Bid Tab**

Bid#:	31605 Title:	227-16 PAINT AND
		SPECIAL TINTS

 Quote#
 Vendor / Supplier
 EPCNT
 Discount

 472189
 KELLY MOORE PAINT
 Yes
 35%

 472165
 PIONEER MANUFACTURING CO
 Yes
 0% discount. quantity dis

 471144
 THE SHERWIN WILLIAMS
 Yes
 30-40 % No minimum order

 472154
 W W GRAINGER
 Yes
 Varies in accordance with

		Award (Y						Extended
Line#	Item Description	/ N) `	Reason	UOM	Supplier	Qty	Price	Price
	Concrete Stain - volume							
	solids 30 +/- 2% with							
	weight solids 43 +/-2%							
	Must meet or exceed ASTM	l			THE SHERWIN WILLIAMS		<b>*</b> 400.45	AF 470 FA
1	G154, ASTM G90 and ASTM	Primary		EA	COMPANY	50	\$109.45	\$5,472.50
	Floor Coating -polyamide epoxy coating with volume							
	solids 65% +/-2% and							
	weight solids 74% +/-2%.							
	Must meet or exceed ASTM							
	D4060 (abrasion							
	resistance), ASTM D4541							
	(adhesion, over concrete),							
	ASTM D2794 (direct impact							
	resistance) and ASTM				THE SHERWIN WILLIAMS			
2	C1028-96 (slip resistance,	Primary		GL	COMPANY	50	\$130.00	\$6,500.00
	Traffic Paint -Chlorinated							
	Rubber traffic paint volume							
	solids 50% and weight							
	solids 74% minimum. Must							
	meet or exceed ASTM D711							
	(dry time) and TT-P-115F				THE SHERWIN WILLIAMS			** *** **
3	(water resistance).	Primary		EA	COMPANY	50	\$45.00	\$2,250.00
					PIONEER MANUFACTURING			
					CO INC DBA PIONEER			
		Alt		EA	ATHLETICS DBA REVERE PRODUCTS	50	\$65.00	\$3,250.00
		AIL		EA	PRODUCIS	30	\$65.00	\$3,230.00
					KELLY MOORE PAINT			
		Alt		EA	COMPANY INC	50	\$74.47	\$3,723.50
	YELLOW Traffic Paint -							
	Chlorinated Rubber traffic							
	paint volume solids 50%							
	and weight solids 74%							
	minimum. Must meet or							
1	exceed ASTM D711 (dry				THE SHERWIN WILLIAMS	_		
4	time) and TT-P-115F (water	Primary		EA	COMPANY	50	\$35.25	\$1,762.50
					PIONEER MANUFACTURING			
					CO INC DBA PIONEER			
		Alt		EA	ATHLETICS DBA REVERE PRODUCTS	50	\$59.00	\$2,950.00
		AIL		EA	TRODUCIS	30	ф59.00	φz, <del>3</del> 30.00
		1						
	1	1			KELLY MOORE PAINT			
		Alt		EA	COMPANY INC	50	\$71.76	\$3,588.00

	5 Gallon Container, WHITE							
	Traffic Paint -Chlorinated							
	Rubber traffic paint volume							
	solids 50% and weight							
	solids 74% minimum. Must							
	meet or exceed ASTM D711							
_	(dry time) and TT-P-115F				THE SHERWIN WILLIAMS			4
5	(water resistance).	Primary		EA	COMPANY	50	\$35.25	\$1,762.50
					PIONEER MANUFACTURING			
					CO INC DBA PIONEER			
					ATHLETICS DBA REVERE			
		Alt		EA	PRODUCTS	50	\$57.00	\$2,850.00
					KELLY MOORE PAINT			
		Alt		EA	COMPANY INC	50	\$68.24	\$3,412.00
					W W GRAINGER			
					INCORPORATED DBA		*400.00	** ** **
		Alt		EA	GRAINGER	50	\$133.69	\$6,684.50
	Alkyd Traffic Paint -must							
	have volume solids of 48%							
	minimum and weight solids							
	of 70% minimum. Must							
	meet or exceed ASTM							
	D7111 @ 50 degrees relativity humidity (Dry no							
	Pickup), Water Resistance							
	TT-P-115f, ASTM D562				THE SHERWIN WILLIAMS			
6	Viscosity and Directional	Primary		EA	COMPANY	225	\$57.45	\$12,926.25
	Viocosity and Directional	rilliary			OSMI AUT		ψ01.40	ψ12,020i20
					KELLY MOORE PAINT			
		Alt		EA	COMPANY INC	225	\$86.24	\$19,404.00
		Ait			COMITANT INC	223	ψ00.24	ψ13,404.00
					W W GRAINGER			
					INCORPORATED DBA			
		Alt		EA	GRAINGER	225	\$189.54	\$42,646.50
-	VELLOW Alloyd Treffic	Ait			SIDINGER		ψ100.04	ψ-12,0-10.00
	YELLOW Alkyd Traffic Paint - must have volume							
	solids of 48% minimum							
	and weight solids of 70%							
	minimum. Must meet or							
	exceed ASTM D7111 @ 50							
	degrees relativity humidity							
	(Dry no Pickup), Water							
	Resistance TT-P-115f,							
	ASTM D562 Viscosity and				THE SHERWIN WILLIAMS			
7	Directional Reflectance	Primary		EA	COMPANY	250	\$40.50	\$10,125.00
		,						,
		1	1					
		İ			KELLY MOORE PAINT			
		Alt	1	EA	COMPANY INC	250	\$68.35	\$17,087.50
		1	1		W W GRAINGER			
		1	1		INCORPORATED DBA			
		Alt	<u>                                       </u>	EA	GRAINGER	250	\$193.38	\$48,345.00
	Alkyd Traffic Paint - must		1					
	have volume solids of 48%	İ						
	minimum and weight solids	1						
	of 70% minimum. Must	1	1					
	meet or exceed ASTM	1	1					
	D7111 @ 50 degrees	1	1					
	relativity humidity (Dry no	1	1					
	Pickup), Water Resistance	1	1		THE CHEDWIN			
	TT-P-115f, ASTM D562		1		THE SHERWIN WILLIAMS	20	£40.50	64 04E 00
8	Viscosity and Directional	Primary	1	EA	COMPANY	30	\$40.50	\$1,215.00
		1	1					
		1	1		KELLY MOORE DANK			
		Alt	1	EA	KELLY MOORE PAINT	20	¢74 47	£2 444 40
		Alt	<del> </del>	EA	COMPANY INC	30	\$71.47	\$2,144.10
		İ			W W CRAINCER			
		1	1		W W GRAINGER INCORPORATED DBA			
		Al+	1	EA	GRAINGER	30	\$189.54	\$5,686.20
L	1	Alt	I	Lim	ONAINGEN	30	\$10 <del>3</del> .34	<b>\$3,000.20</b>

	Interior/Exterior Wall						
	Primer - Waterborne						
	coating that is fast dry,						
	adhesion to slick glossy surfaces, stain blocker with						
	volume solids 36 +-2%,						
	weight solids 52 + -2%,						
	must meet or exceed U.S.						
	Green Building Council			KELLY MOORE PAINT			
9	LEED NC, Version 2.2 and	Alt	EA	COMPANY INC	100	\$69.99	\$6,999.00
				W W GRAINGER			
				INCORPORATED DBA			
		Alt	EA	GRAINGER	100	\$170.00	\$17,000.00
				THE CHERMAN MAIL LANG			
				THE SHERWIN WILLIAMS	400	£474.0F	£47.40F.00
	Deimon Jan VOC meter	Primary	EA	COMPANY	100	\$171.35	\$17,135.00
	Primer - low VOC, water based wash primer free of						
	heavy metals and mineral						
	acids. Designed to be						
	applied over aluminum and						
	galvanizing. Must meet or						
	exceed Adhesion ASTM						
	D3359, Direct Impact						
	D2794, Flexibility ASTM						
	D522 and Pencil Hardness			THE SHERWIN WILLIAMS			
10	ASTM D3363. Weight solids	Primary	EA	COMPANY	50	\$150.90	\$7,545.00
				W W OR ANIOER			
				W W GRAINGER			
		Alt	EA	INCORPORATED DBA GRAINGER	50	\$175.00	\$8,750.00
-	,	AIL	LA	GRAINGER	30	φ173.00	φο, 130.00
	Bonding Primer -						
	waterborne acrylic emulsion, adhesion-						
	promoting bonding primer						
	for hard, slick, glossy						
	surfaces, and previously						
	painted surfaces. Must be						
	low odor and low VOC.						
	Must meet or exceed						
	Adhesion ASTM D4541,						
	Direct Impact Resistance						
	ASTM D2794, Moisture			W W CD AINCED			
	Condensation Resistance			W W GRAINGER			
11	ASTM D485 and Pencil Hardness ASTM D3363.	Alt	EA	INCORPORATED DBA GRAINGER	30	\$22.01	\$660.30
	Tiardiess AOTH Dosos.	AIL		SKAINGER	- 30	Ψ22.01	ψ000.00
				THE SHERWIN WILLIAMS			
		Primary	EA	COMPANY	30	\$124.95	\$3,748.50
							·
			_	KELLY MOORE PAINT			
		Alt	EA	COMPANY INC	30	\$137.10	\$4,113.00
	Paint -Waterborne Coating						
	must be low odor and low						
	VOC with volume solids of						
	42 +-2% and weight solids of 53+-2%. Must be						
	GreenGuard certified And						
	meet or exceed LEED						
	criteria for Schools. Must						
	come in all sheens flat,						
	eggshell and semi-gloss			KELLY MOORE PAINT			
12	for white and deep tone	Alt	EA	COMPANY INC	200	\$70.72	\$14,144.00
				THE SHERWIN WILLIAMS			
		Alt	EA	COMPANY	200	\$71.25	\$14,250.00

	Paint and Accent Colors -							
	100% acrylic, water							
	reducible, corrosion							
	resistant coating for light							
	to moderate industrial and							
	commercial use. Can be							
	used directly to prepared							
	substrates. Must be							
	chemical resistant, fast							
	dry, low odor and low VOC.							
	Must be tinted to light,							
	deep tone, accent and							
	safety colors. Must meet or							
	exceed ASTM D4060							
	Abrasion Resistance,							
	Adhesion ASTM D4541,							
	Salt Fog Resistance ASTM							
	B117 minimum 500 hours,							
	Pencil Hardness ASTM				THE SHERWIN WILLIAMS			
13	D3363, and Flexibility	Primary		GL	COMPANY	300	\$20.93	\$6,279.00
10	Poles and Aluminum Finish	· · · · · · · · · · · · ·			COM ATT		Ψ20.00	ψ0,Σ10.00
	areas - Must be a single							
1	component, waterborne							
	acrylic, adhesion							
	promoting coating.							
	Suitable for interior or							
	exterior use and fast dry							
	with low odor and low							
	VOC. Must come in an							
	aluminum finish with							
	volume solids 37% + -2%							
	and weight solids 39% +-							
	2%. Must meet or exceed							
	ASTM D4541 Adhesion,							
	ASTM D5894 Corrosion							
	Weathering, ASTM D2794				THE SHERWIN WILLIAMS			
14		Primary		GL	COMPANY	100	\$24.00	\$2,400.00
	5 Gallon Container,			·				
	Exterior Wall Paint -coating							
	Must be 100% acrylic							
	formula paintable to 35							
	degree temperature. Must							
	have the ability to paint							
	directly to masonry,							
	aluminum and galvanized							
	substrates. Must have the							
	ability to make light,		l l					
			1					
	deeptone and accent				KELLY MOORE PAINT			
15	deeptone and accent colors and come in flat,	Δlt		FΔ	KELLY MOORE PAINT	50	\$77 35	\$3 867 <b>5</b> 0
15	deeptone and accent	Alt		EA	KELLY MOORE PAINT COMPANY INC	50	\$77.35	\$3,867.50
15	deeptone and accent colors and come in flat,	Alt		EA		50	\$77.35	\$3,867.50
15	deeptone and accent colors and come in flat,	Alt		EA	COMPANY INC	50	\$77.35	\$3,867.50
15	deeptone and accent colors and come in flat,				COMPANY INC  THE SHERWIN WILLIAMS			
15	deeptone and accent colors and come in flat, satin and gloss finishes.	Alt Primary		EA EA	COMPANY INC	50 50	\$77.35 \$85.25	\$3,867.50 \$4,262.50
15	deeptone and accent colors and come in flat,				COMPANY INC  THE SHERWIN WILLIAMS			
15	deeptone and accent colors and come in flat, satin and gloss finishes.				COMPANY INC  THE SHERWIN WILLIAMS			
15	deeptone and accent colors and come in flat, satin and gloss finishes.  Exterior Wall Paint -coating				COMPANY INC  THE SHERWIN WILLIAMS			
15	deeptone and accent colors and come in flat, satin and gloss finishes.  Exterior Wall Paint -coating Must be 100% acrylic				COMPANY INC  THE SHERWIN WILLIAMS			
15	deeptone and accent colors and come in flat, satin and gloss finishes.  Exterior Wall Paint -coating Must be 100% acrylic formula paintable to 35 degree temperature. Must				COMPANY INC  THE SHERWIN WILLIAMS			
15	deeptone and accent colors and come in flat, satin and gloss finishes.  Exterior Wall Paint -coating Must be 100% acrylic formula paintable to 35 degree temperature. Must have the ability to paint				COMPANY INC  THE SHERWIN WILLIAMS			
15	deeptone and accent colors and come in flat, satin and gloss finishes.  Exterior Wall Paint -coating Must be 100% acrylic formula paintable to 35 degree temperature. Must have the ability to paint directly to masonry,				COMPANY INC  THE SHERWIN WILLIAMS			
15	deeptone and accent colors and come in flat, satin and gloss finishes.  Exterior Wall Paint -coating Must be 100% acrylic formula paintable to 35 degree temperature. Must have the ability to paint directly to masonry, aluminum and galvanized				COMPANY INC  THE SHERWIN WILLIAMS			
15	deeptone and accent colors and come in flat, satin and gloss finishes.  Exterior Wall Paint -coating Must be 100% acrylic formula paintable to 35 degree temperature. Must have the ability to paint directly to masonry, aluminum and galvanized substrates. Must have the				COMPANY INC  THE SHERWIN WILLIAMS			
15	deeptone and accent colors and come in flat, satin and gloss finishes.  Exterior Wall Paint -coating Must be 100% acrylic formula paintable to 35 degree temperature. Must have the ability to paint directly to masonry, aluminum and galvanized substrates. Must have the ability to make light,				COMPANY INC  THE SHERWIN WILLIAMS			
15	deeptone and accent colors and come in flat, satin and gloss finishes.  Exterior Wall Paint -coating Must be 100% acrylic formula paintable to 35 degree temperature. Must have the ability to paint directly to masonry, aluminum and galvanized substrates. Must have the ability to make light, deeptone and accent				COMPANY INC  THE SHERWIN WILLIAMS			
15	deeptone and accent colors and come in flat, satin and gloss finishes.  Exterior Wall Paint -coating Must be 100% acrylic formula paintable to 35 degree temperature. Must have the ability to paint directly to masonry, aluminum and galvanized substrates. Must have the ability to make light, deeptone and accent colors and come in flat,				COMPANY INC  THE SHERWIN WILLIAMS COMPANY			
	deeptone and accent colors and come in flat, satin and gloss finishes.  Exterior Wall Paint -coating Must be 100% acrylic formula paintable to 35 degree temperature. Must have the ability to paint directly to masonry, aluminum and galvanized substrates. Must have the ability to make light, deeptone and accent colors and come in flat, satin and gloss finishes.	Primary		EA	COMPANY INC  THE SHERWIN WILLIAMS COMPANY  KELLY MOORE PAINT	50	\$85.25	\$4,262.50
15	deeptone and accent colors and come in flat, satin and gloss finishes.  Exterior Wall Paint -coating Must be 100% acrylic formula paintable to 35 degree temperature. Must have the ability to paint directly to masonry, aluminum and galvanized substrates. Must have the ability to make light, deeptone and accent colors and come in flat,	Primary			COMPANY INC  THE SHERWIN WILLIAMS COMPANY			
	deeptone and accent colors and come in flat, satin and gloss finishes.  Exterior Wall Paint -coating Must be 100% acrylic formula paintable to 35 degree temperature. Must have the ability to paint directly to masonry, aluminum and galvanized substrates. Must have the ability to make light, deeptone and accent colors and come in flat, satin and gloss finishes.	Primary		EA	COMPANY INC  THE SHERWIN WILLIAMS COMPANY  KELLY MOORE PAINT	50	\$85.25	\$4,262.50
	deeptone and accent colors and come in flat, satin and gloss finishes.  Exterior Wall Paint -coating Must be 100% acrylic formula paintable to 35 degree temperature. Must have the ability to paint directly to masonry, aluminum and galvanized substrates. Must have the ability to make light, deeptone and accent colors and come in flat, satin and gloss finishes.	Primary		EA	COMPANY INC  THE SHERWIN WILLIAMS COMPANY  KELLY MOORE PAINT COMPANY INC	50	\$85.25	\$4,262.50
	deeptone and accent colors and come in flat, satin and gloss finishes.  Exterior Wall Paint -coating Must be 100% acrylic formula paintable to 35 degree temperature. Must have the ability to paint directly to masonry, aluminum and galvanized substrates. Must have the ability to make light, deeptone and accent colors and come in flat, satin and gloss finishes. Must have weight solids of	Primary Alt		EA	COMPANY INC  THE SHERWIN WILLIAMS COMPANY  KELLY MOORE PAINT COMPANY INC  THE SHERWIN WILLIAMS	200	\$85.25 \$16.38	\$4,262.50 \$3,276.00
	deeptone and accent colors and come in flat, satin and gloss finishes.  Exterior Wall Paint -coating Must be 100% acrylic formula paintable to 35 degree temperature. Must have the ability to paint directly to masonry, aluminum and galvanized substrates. Must have the ability to make light, deeptone and accent colors and come in flat, satin and gloss finishes. Must have weight solids of	Primary		EA	COMPANY INC  THE SHERWIN WILLIAMS COMPANY  KELLY MOORE PAINT COMPANY INC	50	\$85.25	\$4,262.50 \$3,276.00

	Striping Paint -Must be a							
	fast-drying, latex emulsion							
	formulas designed							
	specifically for lining and							
	marking natural surfaces							
	such as grass, cinder and dirt playing fields. Volume				PIONEER MANUFACTURING			
	solids 31 +-2% and weight				CO INC DBA PIONEER			
	solids 52 +-2%. Coating				ATHLETICS DBA REVERE			
17	must not be harmful to	Alt		EA	PRODUCTS	450	\$36.00	\$16,200.00
	must not be named to	Ait			TROBOOTO	400	ψου.σο	ψ10,200.00
					THE SHERWIN WILLIAMS			
		Primary		EA	COMPANY	450	\$37.50	\$16,875.00
					KELLY MOORE PAINT			
		Alt		EA	COMPANY INC	450	\$39.99	\$17,995.50
	Striping Paint -Must be a							
	Water-Based Aerosol Paint.							
	Paint must be fast drying,							
	non-clog spray, one-coat				PIONEER MANUFACTURING			
	overage and VOC/MIR				CO INC DBA PIONEER			
40	Complaint. Volume Solids			011	ATHLETICS DBA REVERE		***	****
18	15 -22% and weight solids	Alt		CN	PRODUCTS	300	\$2.81	\$843.00
					THE SHERWIN WILLIAMS			
		Drimon		CN	COMPANY	300	\$2.83	\$849.00
	+	Primary		CN	COMPANT	300	<b>ಫ</b> ∠.03	<b>ФО49.00</b>
					W W GRAINGER			
					INCORPORATED DBA			
		Alt		CN	GRAINGER	300	\$4.50	\$1,350.00
L	I.	luir.	l .	U.1	O II III O E II		ψ-7.50	ψ1,000.00